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#include<iostream>

using namespace std;

int succedent[300]; /,
/A “next[5] AYME
int precedent [300] ;//i%~

int main() {
int n, m;
while (true) {
cin >> n >> m;
if (n == 0 && m == 0)
break;
for (int i = 0; i < n - 1; i++) {
succedent[i] = i + 1;
precedent[i + 1] = ij
}
succedent[n - 1] = 03

precedent[0] = n - 1;

int current = 0;
while (true) {
V% :

for (int count = 0; count < m-1; count++)

b w
m K

£, ALH m-1 K succedent Z

current = succedent[current];

int pre = precedent[current];
int suc = succedent[current];
//ik
Vi

succedent [pre] = suc;

current -

precedent [suc] = pre;
if (pre == suc) {

/7205 | ~Ts

//current &R
/%A
cout << pre+l << endl;
break;

¥

current = suc;

return O;
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#include<iostream>

using namespace std;

int main() {

int n;

int sumn = 0, sumd = 1;//fi %R, sumn/sumd
while (n--) {

int num, deno;

1
3
4
b
6 cin >> n;
7
8
9
(0}

1 char slash;//%/[1/H %K %Z# /8

11 cin >> num >> slash >> deno;

12 /A a/b + c/d = (a*d+cHb)/(bkd)
13 sumn = sumn*deno + num¥sumd;

14 sumd = sumd*deno;

15 X

16

17 gcd,

18 int a = sumd, b = sumn, c;

10 while (a !=0) {

20 c =a; a = Dbla; b=c;

26 if (sumd > 1)

2 cout << sumn << '/' << sumd << endl;
28 else

2 cout << sumn << endl;

30 return O;

37  1/100000000
38  1/100000000

39 HAHY
40 1/50000000
41 */
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#include<iostream>
using namespace std;

int main(){

//
V7
/7 B,
// cout << "3" << endl <<
7/
/7 (3
/7
V7
//
/7
V
/7 P

// Ji best K

int best;

for(best =
//abec
bool a = (best 2);
bool b = (best == 4);
bool ¢ = !(best == 3);
bool d = !b;
if (a+b+c+d!=1)

//
cout << best << endl;
V& o
if (a

1)
cout << "A" << endl;
else if (b == 1)
cout << "B" << endl;
else if ( c == 1)
cout << "C" << endl;
else
cout << "D" << endl;
¥
return O;

}
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